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Question Number : 1 Question Id : 454893121 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which one of the following iz net a glacio-tluvial depositional landtorm ?
¥ A W P BE-AE Fem wrengi 789 © 7

Options:



Drumlin

Esker
, T

Horn

B_Eﬂ'_-l

Kame

4 P

Question Number : 2 Question Id : 454893122 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

The concept of 'base level of erosion’ was prc:pnfed by:
IHONGH BT HER R B SFTER0T < TS 8

Options:
Davis

1 \g\ -{qul S1%

Malcott
5 Hoah Glv

Johnzon

SG;‘H"?H\'

Pavvell
i EICEBEE]

Question Number : 3 Question Id : 454893123 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Which climate is most tavourable for chemical weathering ?
HIH-H1 TeAdry AEES HUAH & (070 qdhd & 7

Options:
Cold and dry region



Cold and hunmud region

Hot and dry regions
ERCR R Ex

Hot and humid region
4 T Td 3T e

Question Number : 4 Question Id : 454893124 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

Which of the following plate movements is responsible for the formation of
Mid-ocean ridge ?

=TI § 9§ $IF-E1 e Haa Fel-HeEErTad hed @ FH0 g 9uxerd 2 7

Options:
CEI‘I"L“CE'ISETLI' movermnent

18']-1:1 "l"‘z'l'.-'\. *{.ETJ'?":

Divergent movement

ATENT Heer

Transtorm movement
STPI HI Hear

Subduction movement
£ .
4 [ Hedeld

Question Number : 5 Question Id : 454893125 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

In which of the following oceans the direction of ocean current is reversed with

zeason 7

=feiagg § 9 79 98T9rR 8 SEMPNg 99 &) 59 999 & 919 ui¥atig 8

Xy

B r

Options:
Pacific Ocean

l.H"-‘ T



Atlantic Ocean
5 HFcolicd TEMrs

Indian Qcean

e JEMr

Arctic Ocean

i HTHiced HETErT

Question Number : 6 Question Id : 454893126 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

Which one of the following is nof a cold ocean current ?
Options:
Kuroshio

California

) s A e

Ovashio

Canaries

{-\.‘:l E-\. \:-:

Question Number : 7 Question Id : 454893127 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which one of the following atmospheric layers reflects radio waves ?
fr=ferfad 8§ | $FE-91 agaveary uvd & a9 B wEtdd s 8 7

Options:

Mesosphere

1 He U
Ionosphere
AT HUS



Troposphere
19 JUSH

Stratosphere
HHEAET HUvS

Question Number : 8 Question Id : 454893128 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which of the following instruments is used to measure the relative humidity in
air ?

el H W e SRl BT U 91 H HIES el 19 @ forg faar o g ?
Options:
H}-‘::Erﬂmeter

glg ;;._% T‘r] o
1.

Hygrometer

EEPIEIA
Dl A [l 4
2

Clinometer

Barometer

. TRTHER

Question Number : 9 Question Id : 454893129 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes Single
Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load : No
Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
Which one of the following Indian States is famous for Makrana marble ?

Feforiad 3 9 SF-91 9NGg g JH0T O & g foaag 8 7

Options:
Gugarat
TR

1 =

Rajasthan

5 M=



Madhya Pradesh
5 7 L]

Maharashtra

i RS

Question Number : 10 Question Id : 454893130 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which hill is not a part of the Eastern Ghats ?
-1 UETE] qdrare @1 o J8 = 7

Options:
Sheravoy Hills
IRIGT UBIS]

Javadi Hills
g G I::l 5'-'1-.'_—]

Nallamala Hills
LRI EE

Anamalai Hills
IATHATE UBTSl

Question Number : 11 Question Id : 454893131 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

If the elevation of sun declines, the albedo will :

qfe A &1 =19 Heal g, af ey

Options:
Increase

IRl

1.

Deceraze

5 > Fold |

Remain the same
RIEG EER



No change

4 | 57 TRae 8l 2

Question Number : 12 Question Id : 454893132 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Montreal protocol is related to:
mifcae AlciaTe daled 2 ¢

Options:
Air pollution

Ozone depletion
HATA AT

Water pollution

Global warming

Question Number : 13 Question Id : 454893133 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Which of the following does not produce clitfs ?
P | B YT Bl Sed— TEF Heal 8 7

Options:
Compression fault

Reversal fault

Johidd 997

Thrust fault
&g /T

Strike slip fault



Question Number : 14 Question Id : 454893134 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Cuestion Label : Multiple Choice Guestion
Boreal forest climate is associated with :
AIRTe a9 Weary Hefed @

Options:

Sub-arctic climate

TU-ATHfCH ol EIEd| Lzl

Mediterranean climate
TN Sedry §
L= —t

2

Humid climate
i *,
\!I'] |E_-|I [%;| -?I "J ;3 W

Tundra climate
, S Sy

Question Number : 15 Question Id : 454893135 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Guestion
Which one of the following surfaces has the lowest average albedo ?

fferiiag & 9 f59 O oY 999 &9 39d Uleaer 8 7

Options:
Grass

el

Tropical rainforest
SR CaT TuTa-

Sand

3 A

Water bodies

5y i i

Question Number : 16 Question Id : 454893136 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1



Cuestion Label : Multiple Choice Question

The number of agro-climatic regions in India as per the erstwhile Planning
Commission is :

MEcHT ATl ARE & SIER 98 4 B9 Sofary &5 & 9 ¢

Options:
Twelve

Question Number : 17 Question Id : 454893137 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Guestion
Which one of the following air fronts has the steepest slope ?

f=fefiag & ¥ 59 99T & /9 oigdd Bl & 7

Options:
Warm front

1

Cold front

Stationary front
3. -ﬁ.t“jﬂ '—J LY .-fl.

Occluded front

Question Number : 18 Question Id : 454893138 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

Which one of the following is an example of third order relief ?

M H W B A wE @ e © 7

Options:



Fault block

Delta

S|

Mountain range
r &,

Plateau

[:ll::-lq
4.

Question Number : 19 Question Id : 454893139 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Most abundant chemical element of magma is -
AT T Haifee YAr® o 8

Options:
Oxygen

1E|'|"-h

Aluminium

2 '{'l:'-!. f

Iron

'«T’\E'

Silicon

4 RIEEY

Question Number : 20 Question Id : 454893140 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which one of the following islands contains the major coal deposits of Japan ?

=1 5 ¥ 5w &0 4 99 &7 99d 991 $igar Hem g 7

Options:



Hokkaido

v |

* g ST
z.

Kyushu

O <
5 TRL

Shikoku

2| ch
4 R0l

Question Number : 21 Question Id : 454893141 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Glauconite mineral is found in :

TAtepETEe EfEE U A 8
Options:
Red mud

Blue mud

Green mud
Y 4@ 4

Volcanic mud

4Eﬂﬁn—_—_pj’rﬂ?ﬁif

Question Number : 22 Question Id : 454893142 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Wawe like magmatic intrusion is called :

Options:



Lapolith

Phacolith

Laccolith

hy

GEAEE

Batholith
EOEE

Question Number : 23 Question Id : 454893143 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
In which of the following graphs comfort zone can be identified ?

=1 amF ¥ 9 fFad ‘T9pe 99 & ST B o 9ahdl 8 7

Options:
Hythergraph

Climograph
FATSHIITE

Hydrograph

2 B -ﬁi"f,_g". T

Dendrograph
4 \;*‘}?\ 'i,:l | :]5

Question Number : 24 Question Id : 454893144 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Asteroids are found between -

e : G b
&ode Thdd dd O |id & ¢

Options:



Mars and Jupiter
HTd U4 gef

Jupiter and Saturn
Jedid U9 9=

Saturn and Uranus
91 Td S0

Uranus and N eptune
FEN UG I

Question Number : 25 Question Id : 454893145 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question
Calculate the time of 45 degrees west, if it is 4 p.m. at 45° east :

I 45°Ud H §HY Wid 4990 €, 1 45° Ui¥EH § Fa1 ¥EG B ?

Options:
4dam
, T 4 T3
6 am
UTd: 6 &9
b
Sam
;8 o
iz
10 am.
; o 10 g9

Question Number : 26 Question Id : 454893146 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Which one of the following iz notf an igneous rock ?
g § ¥ $F-41 g 9ceE T8 8 7

Options:




Basalt

i | L,

Conclomerate

T HYC

Granite

L

Rhyolite

(i

4 SEHSHRE

Question Number : 27 Question Id : 454893147 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Guestion
Folds in the mountains are the result of :
Options:

Compreszional Force

HHTSA 9o @0

Parallel Force
TATEAT=IY g &I

Shear Force

Tensional Force

GRIELE GG NG

Question Number : 28 Question Id : 454893148 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
The term 'outwash plain’ is associated with :

‘HTHCAE o Ug &9 HH=id g

Options:
Glaciers

; fegel ¥



Rivers

Sea Waves

Question Number : 29 Question Id : 454893149 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Guestion

The process of 'deflation’ is associated with :
ATUHY I Afhar Ty geiag 8 7

Options:
Glaciers

B8+ 9

Running water
dadl WC

Sea-waves
5 HHE-TT

Wind action

Question Number : 30 Question Id : 454893150 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label - Multiple Choice Question
Hail generally forms within the :
Options:

Cirrus clouds
, T et A



Cumulonimbus clouds
Oy T e L)
b UTHI d9] dlacdl H

MNimbus clouds
L

Stratus clouds
T "@ical §

Question Number : 31 Question Id : 454893151 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Guestion
Koraput has rich deposits of which mineral ?

®RYE H fod Wil &1 9499 Haias 2 7

Options:
Bauxite

G ER]] 3 C

Copper
GIE]!

Iron ore
E;”g ErR] <

Mica

o

4.

Question Number : 32 Question Id : 454893152 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Choice Question

The water pollution in rivers is measured by the dissolved amount of which of
the following ?

afear d el wguur &1 AA FEfeiEd 3 9 [Gae! gereie 3ra & e W e

et

T E 7

Options:
Chlorine

1 '-:I'i.""\l'\ -



Nitrogen
3, TELIO]

Oxvygen

c T
4. »

Question Number : 33 Question Id : 454893153 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Hadley cells develop :
£ed] BIY 9994 B

Options:
At the equator

On the tropics
Between equator and tropics
- A TET 9 dTE Y= e

On the poles
4 gal W

Question Number : 34 Question Id : 454893154 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label ; Multiple Choice Question
Which ocean current is not the part of North Atlantic ocean ?
PHIA-HUl AETATTRA €] 9% AcANUed HelarR & 37 J8f © 7
Options:

Canary current
, DT R

Benguela current

2 ; . L\r I::r Y



East Greenland current

Labrador current

4 E:k_'j-g q -E:||¥:|

Question Number : 35 Question Id : 454893155 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

The name related to paleo-magnetism is :
IR W HHET A B

Options:
. A. Steers
1 o Jo ey

Harry Hess
4 Eoils]

Valentine and Moors
y delcrgd 9 94

Dietz and Holden
; Slod U4 Bloed

Question Number : 36 Question Id : 454893156 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Guestion
What is the earliest Period of geological time scale ?

FASTS Blel AI9H 1 JRHE @iy o § ?

Options:

Permian

1.

Cambrian

Pre-Cambrian

, - g+



Tertiary

4.

Question Number : 37 Question Id : 454893157 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Guestion
The 'Weichert-Gutenberg Discontinuity” is the boundary betwveen :

JHC-JodY el Wl 8

Options:
Chiter and Inner core
ar8d Ud TN IS & i

Sial and Sima

= - Iy it
o Toare ud «m & a4l

Crust and Mantle
YO g ATa] T 4G

Mantle and Core

i Uo7 Ug HIE & 4

Question Number : 38 Question Id : 454893158 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
Ep eirogenefic movement causes :

TSI == TTiafafe 86T 2

Options:
Mountain building
, T FE % B

Origin of continent

5 HETET ] Fcditl & BN

Tfﬂl'tEBTE‘EEiDI'l Df seq
5 e & AfTHH T FRU




Voleanic eruption
, ATl SEHET & PR

Question Number : 39 Question Id : 454893159 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Match the following :
=1 1 GHfeT BIfAT

List-I List-II
-1 REE-11
(a) Vernal equinox (i) December, 22
(h) Summer solstice (ii) September, 23
(c) Winter solstice (iii) March, 21
SIET S A, 21
(d) Autumnal equinox (iv) June, 21
viTaeTel= faga oA, 21
Options:
(a) (b) (9 (d)
, (1) (v) (i) (11)

(a) (b) (c) (d)
o () (i) (1) (iv)

(a) (b) (c) (d)
o () @ Gv) ()

(a) (b) (9 (d)
(i) iv) @) (1i1)

Question Number : 40 Question Id : 454893160 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

'Ladang' is characterized by which of the following ?
FemT fefefag § ¥ ey safiafEg gar 2 7
Options:




Mixed Farming

, A

Dry Farming

Slash and burning Farming
o, ICT AR sl wl

Wet Farming
4 K EER |

Question Number : 41 Question Id : 454893161 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuesticon Label : Multiple Choice Question

(A) : The equatorial low pressure belt is located on either =ide of geographical
equator extending from 5°N and 5°5
Fe - YH [ ga1a @1 UCl 5° BTX U9 5° TGV § thel ArTfee 69 @ gl 3R

(R) : This zone is not stationary because there is seasonal shift of this belt with
apparent movement of Sun.

ey B 2|

Options:

Both 'A’ and 'R’ are true and R’ correctly explains 'A’.
'A'Ud 'R' SFT 981 § Ud 'R, A’ @ WA 4TEH Her B |

iz

Both 'A’ and 'R’ are true but 'R’ is not correct explaination of 'A’.
5 Ud 'R’ g1 98l & #fhd 'R, 'A' & Gal WeIhI Ja8 g1

'A' is true 'R’ is false.
o W g5 2 R o 21

'A' is false 'R’ is true.
i 'A' el & R HEl £

Question Number : 42 Question Id : 454893162 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion



Match the following :
7T @1 gafed HIfa :

List-I List-I1
G-I G-I
(a) Belt of Calm (i) Coriollis force
i & Ut IR g
(b) Deflective force (ii) North easterly trade wind from Sahara to
e 9o Gulf of Guinea
HENT ¥ [ &1 @rgl a9 IR uf¥gq NG
(c) Roaring forties (iii) Equatorial zone
TRt ATeiTd] AN &5
(d) Harmatan (iv) Westerliez
BRHC Elr_i-ci Elra_-[
Options:

(a) by (<) (d)
(ii) (iii) (1) (1v)

(@ ® (o (4
o () @) @) (@)

@ (® (@© (@
o () @ Gv) (@)

(@ () (o (d)
g @) @) @) (@)

Question Number : 43 Question Id : 454893163 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Who postulated Tetrahedral hvpothesis on the basis of geometric principle ?
iy frgld & 9aR W e Igvhasid IReeqr aiaied f&ar ?

Options:
Lowthian Green

, SRR 41

Elie de Beaumont

, el & drgAme



F. B. Taylor
5 o dlo TolY

A. Wegener

4 Yo 9T

Question Number : 44 Question Id : 454893164 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

When the position of the Sun, the Earth and the Moon are in a straight line, this
alignment is called :
Options:

Low tide

J:I '-._.l

Syzygy

Neap tide
o TR HIET

Madir tide

Question Number : 45 Question Id : 454893165 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the following factor(z) produces oceanic current ?
Frefaftad 5 3 ®H-8 RS 7SN °RT UGl &dl/HY © 7

(A) Gravitational pull and and Coriolis force
TEE [g=e ud sIiRafed 9a

(B) Shape of the coastline
‘Hﬂ@f dc &l HATDhIY

(C) Oceanic Salinity, Temperature and Density
AETETNIA SdUIdl, a9 Ud 9o

(D) Mixing of cold and warm water
Sl U WA ofel I [H501



Options:
Only (C)

g rF.- Bl {C]

(A), (B) and (C)
(A), (B)Td (C)

(B), (D) and (C)
(B), (D) ¥4 (C)

(A), (B) and (C)
(A), (B)Td (C)

Question Number : 46 Question Id : 454893166 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which of the tollowing is known as Ruhr of Japan'?
Frfefag 4 ¥ &9 S & $ W @ $9 H W ol 8 7
Options:

Oszaka

ST

Kohe

g T

Tokyo-Yokahama
5 G R CARL

Yanova

4

4.7'-1?.|Tﬂ

Question Number : 47 Question Id : 454893167 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion



Match the following :
ﬁl ”\ I“-zIE Fﬁ %]ﬁ \ E.E jg |-G:| =

List-I List-II
-1 -1
(a) Panama (i) Antwerp with Liege
THTHT AT @ AT Uredy
(b) Suez (ii) Atlantic and Pacific
o Fcolife®d Td uerd
(c) St. Marie (iii) Red Sea and Mediterranea Sea
(d) Albert Canal (iv) Superior and Huron lake
Options:

(a) (b)  (c) (d)
L G @) @)

@ @G (9 (d
@ ) @) @)

@ ® (© @
2 () Gv) @) ()

(a) (b) (¢ (d)
4 (1) (111) (i1) {iv)

Question Number : 48 Question Id : 454893168 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Who first used the word Tsostasy' ?
gAferfy greg &1 WA gauyd ey fear ?

Options:
Alry
W

1.

Thitton

b -

a2t e



Question Number : 49 Question Id : 454893169 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
Anticlinical 1-'51]193-' and synclinal ridge are associated with :

g =T U9 AEd dod dafad 8 ¢

Options:
Youthful stage of river erosion
5] IUNG b garaver |

Rejuvenation of river
> A4l & Ao |

Inversion of relief
YATPHId & IhAT I

Transcurrent fault

Question Number : 50 Question Id : 454893170 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which of the following is the correct sequence from the coast towards the sea ?
FrfeRad J &9 dc o 9NN & 3N 98l FH & 7

Options:
Longshore, Backshore, Foreshore, Offshore
31:‘_]"?1-;'. JIddc, dcid, AYdo

Backshore, Offshore, Longshore, Foreshore,
URede, AUde, dAddc, dch

Longzshore, Backshore, Foreshore, Offshore
o 0c, HIHdAC, doli, AUdC




Backshore, Forezhore, Offshore, Longshore
4 T¥EIE, e, AUTeE, qvEde

Question Number : 51 Question Id : 454893171 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple CThoice Cuestion
Yardang is associated with :
Options:
Erosional activity by wind
, AT BT SIREAY RO aTd

Erosional activity by permafrost

» TRHTBRE BN AN haread 9

Erosional activity by glacier

Erozional activity by running water
80 Wol N1 FuNgHd Tharded o

Question Number : 52 Question Id : 454893172 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Uwala means :
£
Jdlefl <pl dicdd g -

Options:
Large closed depression in Karst region
, TR F 5T H g8l AaeE SaTH

Less intensive holes
o BH HEA forg

Dry caves

Sinkhole

b

S IGEL)



Question Number : 53 Question Id : 454893173 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

High phase of Southern Oscillation indicates :
Tl ST @1 I a9 Hdhd ddl g

(A) ENSO phenomena
ENSO =ecH

(B) Normal condition or Non-ENSO phenomena
Y g A1 IR-ENSO HeHl

(C) Heavy rainfall in East Pacitic
udl weria H W aui

(D) Low pressure system developed in Western Pacific

ufe=d] uend H faaiag M=eE gl

(E) Weak westerley jet streams

(F) Weak Monszoons
FHAN HAG

Select from the followings

Options:
A B CandF
A B CWF

ACDEandF
ACDEWEF

C,DandF
C,DUdF

B, DandE
B,DUAE

Question Number : 54 Question Id : 454893174 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Thermodynamic modifications of air mass indicates :
g W F FEFTOD] TR0 Heobd qd ©

Options:



Upliftment or subsidence of air
, g @ JAR AT AGHE B

Divergence of airmass
5 T & TG0 BT

Heating or cooling of airmass from below

Sﬁﬁﬁmmﬂ?:ﬁﬁﬂﬂwmdm &l @l

Cooling of air by radiating
, (AR BRI a1 & ST &A1

Question Number : 55 Question Id : 454893175 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label ; Multiple Choice Guestion
The modified scheme of climatic classification by C. W. Thornthwaite in 1943
was based on :
1948 § Hlo Swge UMAC N STAandd Faell TSR0 S FUIEd AT TR
Options:

Precipitation effectiveness

q -l-5|[F 4 ':]? ol U

Thermal efficiency
aTdr eI OW

Potential Evapotranspiration

gaTfad argTege Ue

Moisture index
Hledl GaDiP TR

Question Number : 56 Question Id : 454893176 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question



Match the following :

List-I List-II
R REE-11

(a) Eastern Ghats (i) Mahendragiri

(b) Western Ghats (ii) Kalsubai
qi¥aE =91e FGATS

(c) Satpura (iii) Dhupgarh
EOEE 2 RIS

(d) Niligiri (iv) Dodabetta
AT HAC

Options:

(a) (b)  (c) (d)

;e o

(a) (b) (¢ (d)

() Gv) @) Q)

(a) (b) (o) (d)
(1) (1) (v) @)

(@ () (o9 (d)
(1) (i) (@) ()

Question Number : 57 Question Id : 454893177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Gobi desert is situated in :
T AR e @ -
Options:

Pakistan
, e



Iran
2O H

China

i ¥

Mongolia
, e

Question Number : 58 Question Id : 454893178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

What will be the number of the 5.0 1. topographical sheet immediately south of
the Sheet No. 72A /16 ?
efic o 72A/16 % B1F Tl THodedTE0 @ Y-U=d DI = 4] BT ?

Options:
y /2B/1

72B/13
73 A5

73 B/12

Question Number : 59 Question Id : 454893179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

What does Penck'’s landscape evolution model advocates ?
Ud &I T34 [ Hied fd®] ddhicld &edl & 7
Options:

Dowmwasting of slopes

Slope development



Parallel retreat of slopes
o=l @ GaEiOY U gcHl

Slope evolution
i
el Fokllid

4.

Question Number : 60 Question Id : 454893180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion
While preparing a map on the scale of 1 : 50,000, the Ganga river in Uttar
Pradesh will be digitized as:
1 : 50,000 & AYH R A GAR B 5T GOX AW H T AG] BT HDlpo] foa
Options:

A point

A line

Either as a line or a polygon
Ueh Y@l AT 989 @ w49 H

A polygon
I & I A

Question Number : 61 Question Id : 454893181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

In which period domesticiation of plants and animals occurred ?
fep ehTel H UrEl Ud Ui @l qTefgeyvl gl 7
Options:

Paleolithic

q=Tg
1. =
Neolithic



Mesolithine
3 HEE

Pleistocene

Bl

Question Number : 62 Question Id : 454893182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion
(A) : The major means of irrigation in Northern India are canals.

e : ST ARG H THaE @ Ug" 9ee T8 2 |

(R) : Rivers of Northern India are mostly of the Himalayan origin.
PRI : T AN DI Aol AfEwe; Baer] |ig & 2 |

Options:

Both 'A’ and 'R’ are true

B Ud 'R &l 90 &
Both 'A’' and 'R’ are not true

, AT R el Weg A8l &

'A' is true 'R’ is false
5 'A' ¥ £ 'R 39 €

'A' is false 'R' is true

i 'A'IFEE R IO E

Question Number : 63 Question Id : 454893183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Plateau phase of population growth in 'demographic transition' refers to:

SAiTchep] WAV § TAEET gig &1 US TR0 AdS 2
Options:

The first stage
1 HYH g &

The second stage

. TEdir s #1



The third stage

The fourth stage
i =g e @

Question Number : 64 Question Id : 454893184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

One child policy was the part of birth planning programe designed to control
the size of population. Which country designed and implemented it first ?
WA % ATEN B FEET e & o aRefeaa us g Aifa 9 e
HTHH 1 2T ol | {5 391 - HaueE S9! uNSieqd fovam g o] faan ?

Options:
Russia

1.%?“[:r

Japan
IR

China

k|

Brazil

Question Number : 65 Question Id : 454893185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
(A) : California is well known for fruit gardening.

TP : FiewI-a B arFaET & e fawng 21

(R) : Mediterranean climate of this region suits citrus fruits.
BT : 30 £ &1 TRAAFRY o] e Bl @ v Sy 2

Options:
Both 'A’ and 'R’ are true and R’ iz also correct and explains 'A’.
, PIT T BRUI ST I & TAT DRY FEl § T FYF B GOl A BN F |




Both 'A’ and 'R’ are true, but 'R’ doezn't explains 'A’".
HUF Ug HNU S Gcd 8, ol HINY HAF & AN] 98] Hedl g |

'A' is true and 'R’ is false.
FHY I & AR N T B |

'A' is false and 'R’ is true.
FUT HGA & 3N BNV HA |

Question Number : 66 Question Id : 454893186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice GQuestion

The philosophical foundation of regional planning was laid by whom ?
ATefeTe Hare- @1 gii-E g fhas grR1 vl 78 off 7
Options:
Benton Mackaye
; Hes HE

Patrick Geddes
2 N .J-‘. - - ‘.i Fﬁ \

Le Corbusier
5 S PIY

P. Abercrombie
P o a1

Question Number : 67 Question Id : 454893187 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Who propounded the organic theory of state ?
o & Wd Mg @I e uioarfed faar 7

Options:
Mackinder

5

SO
] TR

Haushofer
5 BT



Demangeon

"y i
o W

=,
Ratzel
4 XC T

Question Number : 68 Question Id : 454893188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

The tribal population in Andaman and Nicobar Islands belongs to which race ?

-

dea SN FoER Ta WHE § WAy el B w3 g € 7

Options:
Australoid race

AT AES uald

Caucasoid race

. -
dlddlze Mllld

Mongoloid race
TS S Wald

Negroid race

ERIFER S

Question Number : 69 Question Id : 454893189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The Wild-Ass sanctuary lies in which State of India ?
T T AONTT NG b fhg e i fReg 2 7

Options:
Aszszam

HEH

1
Gujarat

%) 4L

Maharashtra

5, T



West Bengal
4 TOFETH T

Question Number : 70 Question Id : 454893190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Which one of the following is not correctly matched ?

fferfad § | -9 92l gafod 787 8 ¢

Options:
Dam River
a1 T
Dulhasti —  Chenab

1 E_E.":;E_' 24\._.; T &
Dam River
qTe T4
Rihand Ken

- Re=g &
Dam River
q1e S|
Panchet Damodar

=, ..-::la.‘ E-‘-fﬂ?
Dam River
a1 T
Tehri Bhagirathi

i E\.E's‘\ HI7] \r%-ﬂ

Question Number : 71 Question Id : 454893191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Which one of the following channels separates the Andaman from Nicobar
Izslands ?

e § 9 SF-9 o9 FaER §a 398 9 HSH BT ST Hdr 2 7

Options:



3% channel

9° channel
9° 7 ol

10° channel
10° T=7a

11° channel
. TR L

Question Number : 72 Question Id : 454893192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple Choice Cuestion

India has the longest border with which country ?
NG Hay ddl UAT 59 91 & 91 g9 2 7

Options:
Bangladesh

Sl

1.

China

2_%ﬁ=r

Nepal
3. SRl

Pakistan

4 Y |-5'n-'d_‘|l -1

Question Number : 73 Question Id : 454893193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1

Cuestion Label - Multiple Choice Cuestion

Who said "Economic geography deals with economic life of man with relation
to environment” ?

fore @eT "SEE e TN % ey # A @ oiE oiad | wefaa 2 7

Options:
Murphy

1 T



Johna
5 GITel

Zimmerman

3 | F\-\_.-T; \ B

Thoman

4. HHA

Question Number : 74 Question Id : 454893194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :

No Control Enable: Yes
Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Match List-I with List-II and select the correct answer from the given codes :

gHAI-1 @1 - e @xd gY 98 0 @ | UEl 9% @ a9 &Y

List-I
-1
(a) Pampas
(by Veld
GRS
(c) OSteppes
(d) Downs
l._E; \E;Q:I

Options:
Codes :
7T :

(a) (b)
, (i) (111)

(c)
(1)

(c)
(iii)

(c)
(iv)

List-II
I
(i) South America
HENECENEA]
(ii) Australia

(i) South Africa

IET0T AT

(iv) Central Asia

Tqed] T

(d)

(1v)

(d)

(d)
(i)




Codes :
@HC

(a) (b) (e (d)
4 (1) (i) () ()

Question Number : 75 Question Id : 454893195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question

Which of the following countries is not a member of G-7 ?
AT F 9 PTG/ & 959 T & ?
Options:

Italy

Brazil
[ RN | ":’I

United Kingdom

JATgcs fdhied

4,

Question Number : 76 Question Id : 454893196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
Which method of regional planning iz developed by Malisz ?

R i =P = . i S 4
TG [9Teh Tarer @1 fo fafer &7 Aiterd gWT Tddid fdar a7 7

Options:
Cost analysis

T.nput—c:utput a_nalys.is

5 e fageryo

Economic base analysis

. ATERp amuR e



Threshold analysis
5 HITEN fgver

Question Number : 77 Question Id : 454893197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

The "Sirenikski Language”, which is virtually extinct, is spoken by which group
of primitive people ?

FANTITRAT AT, il awrd &, oNfed drll & (6" 998 81 alell ol & 7

Options:
Mongolians

;. T EIE

Eskimos

5 TR Y]

Bushmen

Tharus
2T+

Question Number : 78 Question Id : 454893198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Lakel : Multiple Choice Guestion
Which one of the following is known as the 'golden fibre' ?
=1 | & 0 @ity ¥ & $9 § 9E o g 7
Options:
Cotton



Question Number : 79 Question Id : 454893199 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Guestion
Which one of the following is not a natural harbour ?

T H W I U Wpldd daeiie T8 & 7

Options:
Visakhapatnam
1 ld<ll<dYCcC1H

Marmagoa
]:l q]:‘ L) |\ .:E

Paradip

Mumbai
Ft .;_E‘ ‘e

Question Number : 80 Question Id : 454893200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

Mediterranean type of climate is indicated by which symbol in the Koppen's
classification ?
BIUF H GBI H ATy T JHEERT HaR (6 Had 8N 3G e

[l

Options:
Cs

; ﬁOW( ]

Cw
> ﬂTO 5 '*{’;:IL:Q:"

As
UollHo
o



C
4 o

Question Number : 81 Question Id : 454893201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

The term Endrumpf’ is associated with :
Options:

W. M. Davis
i WELO THo @F_c]'ﬂ Q:[

W. Penck
. S%Yo Uk o

L.C.King
5 Jeo ¥o G

A C Lawson
T Hio wfaa 9

Question Number : 82 Question Id : 454893202 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion
Which type of survey is conducted to find out the problem areas ?

AT &= & Ua] ORI & (o0 T e 6T 9aen fahar o @

o
¢

Options:
Regil:rnal survey

; T3 e

Sample survey

, wfege Z97 Ga&u

Diagnostic survey

. EEHIEERE Ll

Techno-economic SUTVEY

. Th-iT]-3Tfe e



Question Number : 83 Question Id : 454893203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Question

Who established 'National Atlas and Thematic Mapping Organization’
(NATMO,) ?
T Ueard adf fauve ArfEa §aa (e &I ey wnfug fear ?
Options:
H. L. Chibber

'-{T.fl{'.“- TG Lol T R

S. P. Chatterjee
5 UHo ‘ﬁ'\i'o r]F'__-\_l{]i

1. R Khan
= *31—@10 SNo T

. Kurian

i wilo ST

Question Number : 84 Question Id : 454893204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Question Label : Multiple Choice Question
'Kraal' is associated with which of the following tribes ?

faefefag 8§ ¥ S Jauig § gafeg & ?

Options:
Masai

£

HHT%

Sentineleze

> —‘H?'fl fi H

Bushman

Ainu
U
=y o



Question Number : 85 Question Id : 454893205 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Which one of the following population pyramid types indicates increasing birth
rate and high death rate ?

=1 H 9§ E-a1 SaEn e UsR 9ed WHeY Ud 979 gegay & Hod Hedl

sy

B

1o

Options:
Stationary
y e
Regressive
2. Il
Progressive

3. .:"\I' '\.:'. {

Intermediate

4 FETE)

Question Number : 86 Question Id : 454893206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

Scale of the map refers to:
fepddl TEE &1 996 S9Ildl 8 .

Options:
Size of the map
qHE & HTHR B

1.

Size of the area represented
5 R A, TIT{EF[??T THIT &I

Ratio betvween distance on the map and distance on the ground
, AR TR o SR eI TR G @ ST Bl

Ratio between different maps of the same area
4;!—??rm7f?ﬁ:rm?ﬁ‘mﬁmﬂ
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Correct Marks: 3 WrongMarks: 1



Question Label - Multiple Choice Guestion
Population pyramid represents :
Options:

Annual growth rate

Age and sex cl:rmp::lziticm
99 U4q foii1 99 &I

Urban and rural composition
= TN LG | ATHITT HEeA 6l

Qccupational structure
TS T I

4.
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Who gave the concept of locational triangle ?
F’f‘{-"'l ?%H-—E]J_;r_;-_.{l” ﬁ;[ﬂ? ?er HHEET ?ET ?
Options:

Alfred Weber
| DS TR

D M._Smith
. Slo THo iy

C_D_ Harris
. o o 2RF

W. Christaller

” \EE{'JJ? i-s'l"-'f{;._i o

Question Number : 89 Question Id : 454893209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression : Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question



Identify the geographer on the basis of following tacts :
et T2 & SN TN YFTcraT &1 Ted HIfAg

(a) He was a German geographer;
9 A IR o

(b) He was a great geographer of the 17th century;
9 1741 |l & He™ JAraden o;

(c) He died at the age of 28 years;
GRG B33 2899 @ SH H B T3
Options:
Kant
L® ] {5,
1
Varenius
i PRI
Humboldt
5 BHITT
Ritter

-\.-'
i o
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Correct Marks: 3 Wrong Marks: 1
Juestion Label - Multiple CThoice Cuestion

"Present is key to the past”. Whose statement is this ?
“gEE S B Bl 27 | T fEEd FUE § 7

Options:
C. A M. King

P Hlo To THo TR

W. M. Davis
s&ge [He Sidd

James Hutton

W BccH

Walter Penck
drecs Ud
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Correct Marks: 3 Wrong Marks: 1

Question Label : Multiple Cheice Question

Who propounded "Geography as the study of Human Ecology™” ?
"I HiHd TiRRRIf® ® ey & w9 § fewq Afaured fear ?

Options:
H. H. Barrows
, Sdo Tdo T

W. Bun ge

H. J. Mackinder

5 Qdo Slo HfHUSY

P. James
. dlo W g
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

"Morphology of Landscape” is authored by whom ?
“HThiciTol dATh olevwdy” fhas gw fofiag g 7
Options:

W. M. Davis

-

) ger]o UHo Q‘g v

Carl Q. Sauer

, el gl HaY

E. Huntington

3 ?{"C' _'I 'T

Patrick Geddes
4 : r & ey
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question



What is indicated by the spacing of countour lines ?
Options:

Degree of slope

| ©T @ 7Y

Direction of zlope

z?ﬂmaﬁﬁm- Eal

Land use

Length of slope
el &l Sare @l

4.
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Ifscaleofamapizlem=1km Its R F. will be :
O {5l A= &1 99® 1 997 = 1 64 & a1 39@1 Hoe e 8917 ¢

Options:
1:100

1:1000
z.

1 - 10000
>,

1: 100000
4,
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

What would be the bearing of 200° when converted to reduced bearing ?
200° @ fe@e @1 WG fg@am 4 gRafda &v- 0= |3 F1 86 7

Options:
S70°E
1



o 70°W
z.

5 20°E
s

520°W
4,
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

When two or more contour lines meet, the slope of the land would be :
W g1 A1 e FEE Y Herdl € A 43 @1 gre 26

Options:
Steep
{ Gl

Gentle
o ETHI

Uniform
3. HHH

Vertical
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Correct Marks: 3 WrongMarks: 1
Question Label : Multiple Choice Guestion
Mercator's projection is used mainly for :

Hebex WE BT IUGRT JEI: Bl ©

Options:
Distribution map
, fam HH=E |

Astronomical map
5 A 9EEE d

Polar areas map



Navigation map
, TR A
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Correct Marks: 3 Wrong Marks: 1

Cuestion Label ; Multiple Choice Guestion
Where do the Semangs live ?

U9 Fel ¥Bd & 7

Options:
Central Africa
Hel 3hIhT

Borneo

A

Brazil

il C

Andaman Islands
FSHH &0 TE
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Who has given the 'core periphery maodel' ?
‘FR-UNGS dfea foaa fear g °?

Options:
Amartya Sen

i 3134'72'2 par

Sukhmaya Chakraborty

; 9T =TeFaal

Gunnar Myrdal
2 IR e

John Friedman



Question Number : 100 Question Id : 454893220 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label : Multiple Choice Guestion
Who has given the concept of crop combination region ?

9] HATAT STl &1 GhoaT fea o & 7

Options:
J. C. Weaver
1 T,:.r;{‘. ?—rﬁf} Ef“l'.'x

L. D. Stamp
5 Yelo Slo W

D. Whittlesey
3 Slo gdicieal

I. E. Spencer
4 o Fo W
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

The rivers of Northern Asia are unsuitable for navigation because :

ST U @7 Afedl Himrge @ (o Suged 8 @il

Options:
They are shallow
, & sereh! g

They are frozen for longer period of time

They have many waterfalls
g ggd woldad g

Navigation is politically restricted
AT YeTias gite | ufefed 2
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ouestion Label : Multiple Choice Question

Which of the following countries is not a member of SAARC ?
fr=forfag 5 9§ Si-91 €97 91 & 9o 98 ©

Options:
India

1 HINT

Sri Lanka

fieid

Pakistan

&
:l f..'qi .

Turkey
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Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

Central place theory is given by :
o o Mg 5ar 4T

Options:
Christaller

o & B

Jetterson

SIhYd" ® B

Zipf
% & gNI

Geddes
i e & g
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Which of the following lake is not considered among the Five Great Lakes ?
g FoT BT 2d e oled’ | IAd T8 [har A =7



Options:
Erie

Ontario

Superior

FIIERIE

W, inmipeg

T e L
I':l'_:|.q:
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

The alluvial tracts between two rivers is called :

Tl s

gl Af¢al & &9 @ Wdle Uccl @ ®ed © .

Options:
Daoah

Maidan

o

HalAd

Taal
Gl

Diara

4 ‘-::-4. L4
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Correct Marks: 3 WrongMarks: 1
Cesticon Label ;- Multiple Choice Question

The Eastern Ghats and Western Ghats meet at :

Options:



Palni Hills
gt 98rsl @ 9749

Nilgiri hills
RN TRTSl & U

Annamalai

Ooty

4Gﬁﬂ?nm
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Correct Marks: 3 WrongMarks: 1
uestion Label - Multiple Choice Cuestion

The author of 'All Possible Worlds' (2005) is :
‘et difas deed’ (2005) & ofdd €

Options:
G. J. Martin
Slo o AT

E. Hartshorne
e BIEIH

H. J. Mackinder
5 TE0 oo Afhrs

0. H. K. Spate

i Hlo Tgo THo WT
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Question

Citrus fruits are VEery conmmon 111 :
goc YHeR Bl 980 2 WAy § ¢

Options:
Western European region

1—ﬁ—mﬁw*mqﬁwn



Mediterranean region
THEETNI 0oyl |

Desert region
5 TERRIE 09 |

Coastal region
4 doid 'EE\.Q ﬁ[
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Correct Marks: 3 WrongMarks: 1
Cuesticon Label : Multiple Choice Question
Rio Grande river forms the boundary betiveen :

RO TS FST UHE1 94971 2

Options:
Canada and US.A.
s E:I]LR' ?JUQWQ'QO Fj:; E&FJ

U5 A and Mexico
FoUHoTo BIY HiTH & 414

Argentina and Brazil

oAl AR FTae & a9E

Chile and Peru
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Correct Marks: 3 Wrong Marks: 1
Juestion Label : Multiple Choice Question

Which of the following countries does not belong to Horn of Africa' ?
=98 ¥ SIE-9T <9 B i dwieT # wniaa @ e ?

Options:

Ethiopia

3 sefrarfian

Eritrea

z.



Somalia

ot

Sudan

15
£

4.
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Correct Marks: 3 Wrong Marks: 1
Couesticon Label ;- Multiple Choice Question

Which country is deficient in minerals but industrially rich ?
®IF-G1 <8 @i @ gfte § fau~ wg e gfc § 9 8 ?

Options:
Japan

China

=

USA.
TJoUHolo

Australia

4 3 x}ir&' N
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Single Line Question Option : No Option Orientation : Vertical Allowed Progression: Yes Number of Replay : 999 Play On Load :
No Control Enable: Yes

Correct Marks: 3 WrongMarks: 1
Juestion Label - Multiple Choice Cuestion

David Henry is knowm as -
SfdE 2991 &l AF] 3 F :

Options:
Physical geographer

. Al T & w9 H

Urban geng—rapher
5 TR Teiddl & w9 o

Radical gengrapher
. Hfare! Yrerd® w9 o




Regional geographer

, TTET® e & W H
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label - Multiple Choice Question

Tropical graszlands. are Very conunon in :
: i R % whl 3 . L
TR CEdT 9 H Hel- d9gd & °H g

Options:
Brazilian Highlands
grailel @ 9o W9l §

ki

Mexican Highlands

- b

Ofrgepl & 9=F U9 H

Indo-Gangetic Plain

South Africa

43“(93111‘13@?}?{1‘#
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Cuestion Label - Multiple Choice Cuestion

'There iz a strong relationship between environment, image and decision
making'. This statement pertains to:

TR, fafe SR MU o1 @ 4" UE 99Tad Sag g8l 8 | 98 ®eE fhed
Hefeg 2

Options:

Humanism
EUEEDIEIE
Behaviourlism

clda<dlg
Z.

Radicalism

3, 9 SEIE



Weltare Approach
4 PEATTHRI GiteHIm
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Correct Marks: 3 WrongMarks: 1
Cuestion Label - Multiple Choice Cuestion

Who prepared the first weather map of Britain ?
fa- fac &1 ugen Hied 7o Jdr e 7

Options:
Franciz Galton

1. |] dq IlecH

G. P. Marsh
- Sito dlo arey

Mary Somerville

= -_:F{ET Q:qulf.i{#

H. J. Mackinder

Ly L ; _f.'.l ]
£
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Correct Marks: 3 Wrong Marks: 1
Question Label ; Multiple Choice Guestion
Who has given the concept of stages of economic growth ?
s faerg & aXui &1 Gdhouqar fead 21 7
Options:
A Hannes
% =

]. H. Pratt
5 W0 Yo WIT

L. Febre
3 Yoo

W.W. Rostow

s&go %Yo YT
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Correct Marks: 3 Wrong Marks: 1
ouestion Label : Multiple Choice Question

Who is considered as the founder of Mathematical Geography ?

1—|:|j'|T-'|-'\|—r_[ W FF PErCI UGS i?m'ﬁ HTET ATl ? r

Options:
Plato and Aristotle

5 5

1 il AN ;“:JIH*:E\

Thales and Anaximender

t Al % D
5 ey HN UAFHHTST

Hecateus and Herodotus
3 fﬁﬁ;ﬁ Cod xﬂll—x' Fx_réh:: o

Ptolemy
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Correct Marks: 3 WrongMarks: 1
Cuestion Label : Multiple Choice Question

"Resources as means of attaining given ends". Whose statement is this ?
"HHYE 68 T S5a9U] B Wi &N Bl H1EgH £ | I8 e gaad § 7
Options:

Zimmerman

, T

Keynes

Eﬁfﬂ

Ratzel

Humboldt
” =
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uestion Label - Multiple Choice Cuestion



In Christaller's hierarchy system, the 'K value for transporting principle is :
[Shecie & USTshd WUIell & UiNde- fagia o § 'K &1 44 @1 2 7

Options:
2

L

L
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Correct Marks: 3 Wrong Marks: 1
Cuestion Label @ Multiple Choice Question

Which one of the following approaches is related to historical perspective of
rural settlement studies ?

f=feriag § 9 ©E-91 SUFTH ATH0 9T SEgaEl & Uldeiidgd 9huey ¥ g

v P

Options:
Behavioural approach
SATdeTNd JITTH

Spatial approach
q;"“l-ilrﬁ SHTH

Ecological approach
qTfeeas U

RetngrEESh-‘E apprﬂach

4 TEETH] SUT



